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2

For each question from 1 to 28, four options are given. One of them is the corect answer.
Make your choice (1, 2, 3 or 4), Shade the correct oval on the Opfical Answer Sheet (OAS).

[58 marks}

4 Which one of the following is not a living thing?
M (2)

mmmmmrsamammnm

(1) orow

{(2) Dbreaths
(3) respond
{4) reproduce
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The diagram below shows a water hose connected to a tap.

Water can flow through the coiled water hose because it

(1}  has mass.

(2) has definite volume.

(3)  has no definite shape.
(4) cannot be compressed.

The chart below shows how substance Z and air are transported in a human body.

air .
SystemB | ¥ systema [*—5 | Digestive System |
air %
Z
alr | 1 air
_ LY v
Other parts of the body
What are systems A and B and substance £7
B SystemA | SystemB | SubstanceZ
(1} respiratory circulatory digested food
{2) circulatory respiratory digested food
(3) muscular - clroulatory ar
(4) cireulatory resplratory alr -
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Study the chart below.

Living thing

yes

k.

no
Does it make its
own food?

Which one of the following s comrect?

X f Guestion Y
(1) mould : Does It produce seeds?
2) ~ mushroom _Does it have roots?
@ rose 1 ~ Does it need water?

For mare papers, Go to; SeriousAboutSchoaol. comy/OnlineExams



5

6  Which part of the human digestive system listed below-absorbs all the remaining
digested food?

(1} stomach

(2} small intestine
(3) large intesting
(4) anus

7 Which one of the following is not matter?

(1) star
{2) sound
(3} smoke
(4)  sponge

g The diagram below shows two plants.

Which one of the following statements explains correctly the funetion of roots for
both the plants above?

{1}  The roots support the plants upright.
(2}  The roots take in mineraf salts for the plants.

. {3) . Theroots hold the plants firmly to the ground,
(4)  The roots spread out to receive more sunlight,
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Ms Tan prepared thres set-ups, X, Y and Z, using identical plants as shown in the .
diagram below. Each container had the same amount of water and a layer of oll.

Ms Tan placed the fhree sel-ups near a window and observed the amount of water
{eft In the beaker after a week.

Which one of the following most likely shows the amount of water left in each
contalner at the end of a week?

m
A

of water
loft
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10  The diagram below shows the ife sycle of an animal.

adult \
nymph egg

Which animal is likely to have the life cycle as shown above?

(1}  chicken
(2) frog

{3y housefly
(4) cockroach

11 The diagram below shows stages in the [ife cycle of an insect.

e

P adult

N

Which of the following correctly describes the Insect af stages P and Q?

Stage P Stage Q
1) ~ movesalot doesnotmove
@) looks fike adulf does niot fook fike adult
(3) does ot moult ‘ moults severat times
{4) able to fly unable to fly
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12 John filled a syringe with some oll and &air. He covered one end of the syringe and
tried fo push the plunger down.

push

John could mm:nmwmm.m&ammwamms

observation?

A Alrtakes up space.

B Ol has a definite volume.

C  Qil has no delinite shape.

D Air has no definite shape.

(1) AendBonly

(2) AendDonly

{(3) BandConly

{4) CandDonly

13 The animals are clessified into two groups as shown below.

[ Group¥ GroupZ
_mosquito | grasshopper

Wheat is/are the possible heading(s) for groups Y and Z?7
Group Y Group Z

A | The young do not resemble adult The young resemble aduit

B | Havewingsinthe adultstage | Do not heve wings in the adult stage

C | Spend part of the life cycls Inwater | Spend the whole iife cydie on 1and

(1) Aonly
(2) Bonly
(3) BandConly
(4 AandConly
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14  Study the flowchart below.

Matter

Does it have ™
mass?

Yes

Does ithave a
definite volume?

- C

Which one of the following best represents A, B and C?

A 1T B (2
H) alr ~ oxygen ice
{2) heat water alr
(3) shadow oxygen fcer
(4) light ice ar
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15 The diagram below shows a shelf.

Metal Is used to make the shelf because metel

(1) isshiny

(2) can reflect light

(3) does not break easily
{4) is a good conductor of heat

18 Which one of the following can be attracted by a magnet?

{1) steel ruler
{2) rubberball
{3) glass marble
{4) wobden spoon
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17 Which one of the following Is a source of light?

Q) 4

© | (@

an apple . the moon.

18  Which diagram below shows repulsion between two magnets?

(1) | (2)
1747 s
o
2| IN S
Z
(3) 4
N s
N Si{ N
s N
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19 Zeakiah placed an ice cube into a cup of water as shown below.

ice cube

- water

The ice melted after a while.
Which one of the following explains Zakiah’s cbservation?

| (1) The cup loses heat to the water.
(2) The water gains heat from the ice.
{4) The lce cube loses heat from the water.

20 ﬁwc,.D,Emdmemémdwﬁ'meobswaﬁmmshmbem.

barC barD barE bar ¥

Bar C is amagnet.

Bar D Is made of copper.

Bar E can be a megnetic material.
Bar F can be a non-magnetic material,

N =< X E

(1) W andZonly
(2 XandY only
(3) W,YandZonly
{(4) Alofthe above
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21 Four identical cubes made of different materials, A, B, C and D, were weighed
before they were placed into four containers containing equal amount of water.

After 10 minutes, each cube was weighed again. Their masses were fecorded in the
table below. | | |

Material | Mass at the beginning (g) | Mass after 10 minutos
A 12 14 -
B 7 14
C B 18
3] 10 10

Which material is the most suitable to make a raincoat and towel?

Raincost Towel
(1) A C
(2} B D
(3) c D
(4) D B
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22 Two empty flasks, P and Q, are connected by a glass tube as shown below. There is
a drop of Ink in the tube.

Which of the following actions will cause the drop of ink to move towards flask P?

W Place flask P in a2 basin of ice.
X Place flask Q in a basin of ice.
Y Place flask P in a basin of hot water.
Z Place flask Q in a basin of hot water.

{1) Wand Xonly
{2) Xand Y only
{(3) W and Z only
{4) YandZonly

23 Mmmwmemunmammmmasmm.mem
H are made of the same matesial.

Which one of the following statements is comrect?

(1) Cube G has more heat energy as it gained hest faster.
(2) Cube G has less heat energy as compared to cube H.
{3) Cube H has less heat energy as compared to cube G.
(4) Cube H has more heat energy es it lost heat faster.
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24 The diagram below shows blobs of wax, A, B, C and D, which are placed onto a
triangular piece of metal.

Part §

metal

Partp

Part R

) Part Q

When a certain position of the metal piece is heated, the blobs of wax melt in the
order of B, C, A, D. Which position, P, Q, R or 8, Is the metal plece heated?

1y P
2 Q
3 R
(4y S

25 A cup of hiot chocolate was left in a room for 40 minutes. Which one of the graphs
represents the changes in temperature that took place in the cup of hot chocolate?

(ty

&)

5 100

Eo —-Fime (mi)
g ?%00"'0

g

‘gﬁ -3 Time {irin}

(2)

)

1 100G

> Tive (rin)
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26 Nalini cut out three shapes that are of the same height from a piece of cardboard.

10cm

et it T

circle rod triangle

She placed each shape at different positions, X, Y and Z and a shadow is formed"
on the screen as shown below,

] v z

torch screen shadow on
the screen

Which one of the following shows the objects placed at positions X, Y and Z?

X Y . Z
(] rod J  crgle triangle
{2) __irangle od circle
(3) Tod __tiangle gircle
{4) circle tiangle rod
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27 Ron placed object W behind three different materials, R, S and T.

<0

Ron's eye
I

material

He drew what he could see as shown below.

D¢

Materiat R

. front view of
object W object W
Material S - Material T

Which one of the following properties describe the materials correctly?

No light can pass Some light can pass | Most light can pass
through through __through
(1) R 8 T
(2) T R S
(3) S R T
(4} T S R
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28 An object was placed in front of a light source. A shadow was formed on the screen

as shown bslow.
.——‘m shadow

Which one of the following objects could form the above shadow?

__bottle ) tolletroll thumbtack ___cone

(1) tollet roll and cone only

(2) bottie and thumbtack only

(3) bottle, thumbtack and cone only
(4) tollet roll, thumbtack and cone only

End of Booklet A
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For questions 29 to 40, write your answers in the spaces provided. The number of
marks available is shown in brackets [ ] at the end of each question or part question.
[34 marks]

29  Two objects, A and H, made of different materials were placed on a balance as
shown below,

What could be concluded based on the above set-up using the balance?

Circle the correct answers for (a).
@) The mass / volume ofthe ObjectAls i
greaterthan / thesameas / smallerthan Object H. M

{b) Then, the two objects were placed into two identical beakers, P and Q,
contalning the same amount of water as shown below.

S o o e

-1 A

-
=8

-
s

s
e

F

Beaker P Beaker Q

Why is the wasr level in beaker Q higher than the water levelin beaker P?  [1]

{Go on 1o the next page)
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30  The diagram below shows the human digestive system.

@
(b}

!stame the organ in (a) by writing your answer in the box above. |

Name another organ in the human digestive system where digestion does ot

take place.

{Go onto the hext page)
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31  Study the life cycle of the butterfly and frog as shown below.

N

== —§®-- offrog

..--_-

Life cycle of
buiterfly

(a) State a difference between the number of stages in the life cycles of the butterfly
and the frog. M

{b) S@pmawmmmammmmes'smmummpmamm

tank until it developed info a buiterfly. She measured the mass of leaves left in
the tank and recorded her results as shown in the graph below.

mass of 1
leaves left{g) }

b b i . day
0 1 2 3 4 85 6 7

When did the caterpifiar turned info a pupa? Explain your answer clearly. 2

{(© ithad notbeen raining for many months and the pond in Siti's garden was drying.
up. Siti noticed that there were fewer frogs In the pond. Based on the life cycle of
frog piven above, @Vea.mm'fgrs‘iﬁ’sobsmm., g}

-

{Go on to 6 Hiext page,
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(a)

(b)

Bala conducted an experiment as shown below to find out if the amount of light
sffects the growth of seeds. He placed one of the set-ups in the open field and

the other in the kitchen.

Set-up X (placed in the open field)

near the window)

Bala's sister told him that his experiment was not fair. Suggest two changes that
Bala should make to set-up Y so that the experiment is falr. [2}

Suggestion 1;

Suggestion 2:

Bala observed the stages of development of his seed.

. 3, Y

Arrange the stages in the correct order of devefopment from the seed to a
seedling. Fill in the boxes provided below with lefters, A, B, Cand D. [}

3

{Go on to the next page)
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33  Wenlifilled a beaker with water to the brim as shown in the diagram below. She
then dropped a steel ball into the beaker.

steel ball

{a) What would Wenli observe about the water after she dropped the steel ball into

the beaker? (1]

{b)  What property of matter was shown in the experiment above? [i;

Wenli fransferred a Maﬁeerfomﬂ\e measmmmamasshm
~ below and she observed the following result.

Matter Z

(c) Whatis the state of Matter Z? Explain your answer. 2

{Go onto the next page)
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34 The diagram below shows an oven.

(8y Part Ais made of glass because it allows fo pass through so
that the user can see the dish inside. {11
(b} Part B is made of because it needs to be strong. {1 1

35 Bala used an instrument to measure the temperature of water in a beaker.

Instrument
l
e — e e}
we s wom (B) e TP water
******** -}
(8} Whatis the instrument called? f 1]
(b} Whatis the temperature of the water in the beaker? '{‘l}
°C

4
(Go on to the next page
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36 The diagram below shows how a person sees the flower.

The from the torch is by the
flower and enters the person’s eys. 2]

37  Janetltook out two glasses, P and Q, from her cupboard and she found that the

Janet decided to pour hot water on glass P o separate them but it did not work.

(Go on 1o the next page)
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(&)

(b)

()

An experiment was set up as shown below. One ice cube of equal volume was
placed in container X, Y and Z at room temperature. Container X, Y and Z are
made of different materials. ‘

CRERIMDIE TR CSTRIEr SR

ice cube

container X containerY container Zv

After 30 minutes, the Ice cubes were removed from each container. The amount
of water collected in each container was measured. The results are shown in the
graph below.

Amount of
water (m) |

container

What is the change in state of the ice cubes in the containers after 30 minutes?
. A | [

Which container, X, Y or Z caused the ice cubes to melf the slowest? Explain
your answer based on the graph above. [1]

|
What property of the container you have chosen in (b) caused the ice cube to

melt the slowest? [l

3

(Go on to the next page)
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(a)

(b)

10

The diagram below shows a set up to measure the amount of light that could
pass through different materials, R, Sand T.

/ e YOI
( fight source

fight sensor

The table below shows the amount of light that passed through different
materials, R, Sand T.

Material Amount of light {units)
nomatertal 100
R v 0
8 _ 60
The picture below shows a pair of sunglasses.

part A

Based on the resuits, which material R, 8 or T, would be suitable fo make Part A

of the sunglasses? il
Material
Explaln your answer based on the results above. : ]

(Goonian&ttpsge}
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Material R was used in another experimental set up as shown below. A shadow
was formed on the screen when the forch was swifchedon.

screen
Material R '

torch

U

{c} Whatwould happen to the shadow if materiat R is moved nearer to the torch?
{1]

(¢}  Explain your answer in (c). 11

2

(Go ot to the next page)
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40  Roy prepared an electromagnet set-up as shown below.

wire

He used nalls made of different types of materials, A, B and C, to find out how
many pins they could attract. The results are shown below.

i

Number of

"naﬁ

{a) \Machnaﬂ A, BorC, shouldRayohoaseifhswantedﬁomakaaskmger
electromagnet? Explain your answer. 1

(b) Suggestonewayﬁaat Roy could do to the electromagnet fo increase the number
of pins aftracted to It - M

(c)  What could nall B be made of? Explain your answer. | m

End of Booklet B
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Q1 [ @2 Q@ a4 @ ; Q6 | Q7 | a8 | @3 | Q10

Q11| Q12 | Q13 | Q14 | Q15 | Q16 | Q17 | Q18 | Q19 | Q20 .

oA 5 o

, (:}29) a)m éééhiméréétéé' R
b)Both objects are solid and solid occupy space. Object H has a

| greater volume than cobject A, indicating that B occupies more space
in the water than A. Hence, the water {evel in beaker Q would be

| higher than the water level in P.

Q30) | a)gullet
biLarge intestine

: Ps“;’ 1 For mare papers, Go to; SeriousAboutSchoaol. comy/OnlineExams
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Q31)

a)The frog has a three-stages life cycle while the butterfly has a four-
stage life cycle. ‘

b)Day 4. When the caterpillar was in the larva stage, it will eat a lot as
shown in the graph from Day 1 to Day 3. However the mass of leaves
remained constant from Day 4 to 7. Indicating that had turned into a
pupa which does not move to feed on the leaves.

c)The adult frog lays eggs in water. Since the pond is drying up, lesser
adult frog will reproduce in the pond. Hence, there would be fewer

frogs.

Q32) | a)1)Decrease the number of seeds in Set-up Y to be the same as the

number of seeds in Set-up X.
2)Place Set-up Y somewhere dark, where there is no light.

b) C>D->A->B

Q33) | a)The water in the beaker will overfiow.
b)Matter has volume and occupies space.
c)Solid. Solid has a definite shape and does not take the shape of its
container. Matter 2 remained its shape in a rectangle when it was
transferred to the beaker.

Q34) | a)light
b)metal

Q35) | a)Thermometer
b)27°C

Q36) |light / reflected

Q37) | When matter gains heat, it expandé. The cup is a matter. When cup P
gained heat from the hot water, it expanded and became bigger .
Causing both cups to remain stuck.

Pg2
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Q38)

a)From solid state to liquid state.

'b)Y. The water collected in Y was the least, indicating that it is the

poorest conductor of heat and conducts heat from the surrounding to
the ice at the slowest rate. Causing the ice to meilt the slowest.
c)it is the poorest conductor of heat and conducts heat from the

surrounding to the ice at the slowest rate compared to X and Z.

Q39)

a)sS

b)Material S allows some light to pass through.
c)it will be come bigger.

d)More light will be blocked.

Q40)

a)C. The number of pins attracted by C was the most, indicating that C
has the strongest magnetic strength among all three materials. A
stronger electromagnet must have a stronger magnetic strength .
b)increase the number of batteries in the set-up.

c)Aluminium. Nail B did not attract any nails indicati'ng that it is made

of a non-magnetic material. Aluminium is non-magnetic.

Pg3
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